Stigtomta BK

Grona hissen 2020-01-20

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poéng % Namn MID Klubb
1 11 293 67.82 Ove Bjorn - Ingegard Andersson 1495 2813  Stigtomta BK
2 6 252 58.33 Maria Lundemo - Thor Sagfors 43491 51742 Stigtomta BK - BK Sang, Oxel6sund
3 20 248 57.41 Inger Eriksson - Gosta Holzt 78431 37628 Nykdpings BS - Stigtomta BK
4 17 246 56.94 Per Gudmundsen - Karl-Inge Karlsson 3055 6678 BK Sang, Oxelésund
5 3 241 55.79 Hans Nystrém - Eva Antonsson 45307 30138 Stigtomta BK - BK S:t Erik
5 15 241 55.79 Asa Lackgren Larsson - Thorsten Johansson 25936 30294 Stigtomta BK
7 16 230 53.24  Arne Stockman - Ros-Mari Koch 58370 59155 BK Sang, Oxelosund
8 9 229 53.01 Anders Gustafsson - Percy Andersson 90866 1542  Stigtomta BK
9 19 220 50.93 Susanne Hammar - Zenitha Wiberg 1253 57309 Stigtomta BK
10 12 217 50.23 Per-Anders Eriksson - Hans Nilsson 39713 39712 Stigtomta BK
11 10 209 48.38 Renée Sundstrém - Dan Sundstrom 8514 12742 Stigtomta BK
12 13 208 48.15 Peter Engstrand - Anders Svedberg 63361 80936 Stigtomta BK
13 18 204 47.22  Sven Andersson - Bo Ytterstrom 6682 13000 BK Sang, Oxel6sund
14 5 202 46.76 Elisabet Johansson - Gosta Sjolander 27416 27555 Stigtomta BK
15 7 199 46.06 Ann Sjoberg - Stig Sjoberg 4028 1419  Stigtomta BK
16 8 193 44.68 Bengt Grinell - Caroline Rost Grinell 92739 33353 Stigtomta BK - Ej medlem
17 2 191 44.21 Gunllla Petterson - Gudrun Herbst 43612 27478 Stigtomta BK
18 1 168 38.89 Goran Lindell - Karin Heijdenberg 43608 63362 Stigtomta BK
19 4 167 38.66 Ulla Lindberg - Elisabeth Malmberg 49822 38704 Stigtomta BK
20 14 162 37.50 Hagbert Svensson - Karin Ekstrém 32011 44095 Stigtomta BK
1 4 D943 Basta kontrakt 2 497 Basta kontrakt 3 4« Knl0 Basta kontrakt
Nord v K743 34 OD-1100 Ost v EK98 2v O =-110 Syd v KKn63 34 V =-140
Ingen +763 NS 49862 ov ¢ EKKn754
*43 & ¢ v & NT #E105 & ¢ v & NT %10 & ¢ v & NT
482 4 K1065 N585 86 4 EKn5 « KD64 N8 6 557 4E963 4D752 N57 845
vEKn985 v D102 S 58586 vDKn1043 v52 S 86567 vED9 v104 S57 845
+ K108 +5 084855 ¢+ KD1043 ¢7 O57 876 + 10863 ¢ D2 0753838
2965 #ED1082 V73755 - #D98632 V57876 «D8 #EK973 V864938
& EKn7 410832 4 K84
v6 v76 v 8752
+ EDKn942 ¢ EKn5 +9
#KKn7 #KKn74 #Kn6542
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
19 20 3NN= 8 400 180 00| 1 2 44 0-3 ¢A 150 150 30| 5 4 4eV-2 ¢+K 200 18.0 0.0
13 14 3¢ S+2 &5 150 16.0 20| 9 10 4v V-3 A 150 150 30| 6 7 2v¥N= K 110 16.0 2.0
3 4 3¢S+l 48 130 110 7.0|11 12 3NV-3 &5 150 150 3.0| 1 20 3NV-1 ¢A 100 10.0 8.0
11 12 3¢ S+1 5 130 11.0 7.0|17 18 3NO-3 3 150 150 3.0|13 12 34 V-1 T 100 10.0 8.0
15 16 3¢ S+1 v5 130 11.0 70| 5 6 340-1 v7 50 70 11.0|14 15 3NV-1 ¢A 100 10.0 8.0
17 18 4¢ S= 48 130 11.0 7.0|13 14 3NO-1 v7 50 7.0 11.0(17 16 34 V-1 ¢A 100 10.0 8.0
1 2 2¢S+1 48 110 5.0 13.0|15 16 3v V-1 a7 50 70 11.0(18 19 34 O-1 +9 100 10.0 8.0
7 8 3¢ S= 6 110 5.0 13.0|19 20 4v V-1 49 50 70 110 9 8 4vy N-1 +Q -50 4.0 14.0
5 6 4¢S-1 48 -50 10 17.0( 7 8 la V= v7 -80 20 160| 2 3 3vS-2 %8 -100 20 16.0
9 10 44 N-1 ¢5 -50 10 170 3 4 34 0+1 v7 -170 0.0 18.0|10 11 34 V= +K -140 0.0 18.0
4 « KD4 Bésta kontrakt 5 46 Bésta kontrakt 6 4 ED2 Bésta kontrakt
Vast v K1065 5¢v N =650 Nord v K10543 44 N =130 Ost v 10942 34 O =-140
Alla + Kn854 NS + K5 ov ¢ DKn73
#43 & ¢ v & NT #D10975 & ¢ v & NT #92 & ¢ v & NT
4109762 &Kn N 6 11119 6 4 KKn985 D743 N 108 8 4 6 4108763 &K54 N366 35
v 942 v Kn87 S 6 11119 6 vD762 vE8 S 108 8 4 6 v6 v KDKn7 S 366 35
4976 ¢ D2 071232 ¢ 62 49743 034485 +54 ¢+ E108 0966 9 8
*K7 #EDKN9652 V 7 1 2 3 2 *32 #EK8 V345886 #EK1064 #D85 V966938
& E853 4 E102 4 Kn9
vED3 v Kn9 v E853
+ EK103 + EDKn108 + K962
«108 #Kn64 #Kn73
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
5 4 4y N+1 s] 650 17.0 1.0|17 11 3v N-= K 140 180 00| 7 5 2NO-1 ¢2 100 18.0 0.0
17 16 4v N+1 ] 650 170 10| 9 14 44DO-1 vJ 100 16.0 20| 4 19 24 O+1 ¥3 -140 140 4.0
9 8 4v N= A 620 140 40| 2 16 34 0-1 vl] 50 120 60| 8 6 24 O+1 ¥5 -140 140 4.0
2 3 3vy N+2 s] 200 8.0 100| 8 6 34 V-1 *6 50 120 6.0|20 3 34 V= +3 -140 140 4.0
6 7 3y N+2 A 200 8.0 100|20 3 34V-1 + K 50 120 6.0 2 16 24 O+2 ¢33 -170 8.0 10.0
10 11 3v N+2 L) 200 8.0 10.0| 4 19 24 V= vlJ -110 6.0 120 9 14 24 O+2 YA -170 8.0 10.0
13 12 3+ 0-2 «T 200 8.0 100| 7 5 24V= +K -110 6.0 12.0(12 18 24 O+2 &3 -170 8.0 10.0
14 15 34 0O-2 ¢A 200 8.0 10.0|12 18 24 O= v9 -110 6.0 12.0(10 15 3NO= v5 -600 40 140
18 19 3v N+1 aJ 170 20 16.0| 1 13 24 O+1 8 -140 10 17.0( 1 13 44 O= vA -620 10 17.0
1 20 3¢ S+1 K 130 0.0 18.0|10 15 34 V= +K -140 1.0 17.0(17 11 44 O= vA -620 1.0 17.0
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7 4872 Basta kontrakt 8 492 Basta kontrakt 9 4 EK987653 Basta kontrakt
Syd v EDKn42 7% S D -3-800 Vast v ED9865 6¢ V =-920 Nord v42 54 N =450
Alla +8 Ingen + Kn98 ov + D87
#D932 & ¢ v & NT *84 & ¢ v & NT »- & ¢ v & NT
4 EKD94 41053 N 100 8 1 2 «EKn74 4105 N11631 «D « Kn104 N 117 111110
v 98 v3 S 100 9 1 2 v432 vK7 S11631 v 1063 vD75 S 116 11119
+D97642 ¢ EKKn53 O3 122 123 ¢ K1054 ¢ ED7 O 12127 1011 ¢ Kn95432 ¢ EK6 025113
»- #K865 vV 3 122 123 D2 #EKKNn765 V 12127 1011 #543 #K982 V26113
4 Kn6 4~ KD863 a2
v K10765 vKnl0 v EKKn98
+10 4632 +10
#EKN1074 #1093 #EDKN1076
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang
18 7 5vDS= «Q 850 180 00| 9 1 3+0+2 vJ] -150 170 10|13 8 44DN+1 ¢A 690 18.0 0.0
9 1 4v S+l 4A 650 16.0 20|18 7 4#0+1 s K -150 17.0 1.0|11 19 44 S+1 +9 450 150 3.0
20 15 34 V+2 vA -200 140 40| 2 4 340+3 vA -170 100 80|16 10 44 N+1 ¢+K 450 150 3.0
13 3 24 V+4 +8 -230 120 6.0(11 6 44 0O+2 vJ] -170 100 80| 1 12 44 N= ¢A 420 10.0 8.0
2 4 56 V+l vA -620 9.0 9.0|12 16 3 O+3 vJ -170 100 80| 2 7 44 N= +K 420 10.0 8.0
8 5 5¢V+l vA -620 90 9.0|14 10 34 O+3 vJ -170 100 80| 9 5 44 N-= ¢K 420 10.0 8.0
11 6 44 V+1 +8 -650 5.0 13.0|20 15 3% O+3 vJ] -170 100 8.0 (14 4 34 N+2 +K 200 6.0 12.0
17 19 4e4 V+1 +8 -650 50 13.0|13 3 3NO+3 vJ -490 3.0 150| 6 20 64 N-1 + K -50 3.0 15.0
14 10 44 V +2 +8 -680 2.0 16.0|17 19 3NO+3 vJ] -490 30 15018 3 64 N-1 *A -50 3.0 15.0
12 16 64 V= vA -1370 0.0 180| 8 5 4vDN-4 &K -800 0.0 18.0|15 17 64 N-2 *A -100 0.0 18.0
10 & K752 Bésta kontrakt 11 & KKn10 Bésta kontrakt 12 4 K73 Bésta kontrakt
Ost vE4 2v O =-110 Syd v 762 24 SD-1-100 Vast v 106 3v V =-140
Alla ¢ E973 Ingen + K82 NS + KKn986
#DKn3 & ¢ v & NT #EKKn6 & ¢ v & NT #EKn4 & ¢ v & NT
4 DKn « E1084 N6 7576 4 ED 48732 N75577 4 Kn4d 4« ED652 N9 8476
vDKn965 v1073 S6 7576 vD3 v EKn985 S75577 vKDKn7532 v84 S88476
¢ 1084 + D6 O758©6 6 + EKn103 ¢ D64 O6 8855 ¢ E54 ¢32 04496 3
K72 #E954 V758©6F6 #107543 %9 V 6886 6 &8 #9632 V4496 3
4963 49654 41098
v K82 v K104 vE9
¢ KKn52 4975 + D107
#1086 #D82 #KD1075
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 19 INS+1 v6 120 180 00| 6 17 2vO-3 2 150 180 0.0| 3 10 4¢ N= v8 130 16.0 2.0
6 20 2¢ N+1 4 110 160 20|11 5 2NV-2 K 100 160 20|11 5 4¢ N= v8 130 16.0 2.0
16 10 3v V-1 «Q 100 140 40| 2 14 INN= v5 90 13.0 50|19 9 4¢ S= v8 130 16.0 2.0
13 8 INS= vQ 90 120 6.0 7 1 INN= *9 90 13.0 50| 2 14 44 S-1 ¢A -100 11.0 7.0
1 12 2¢ N-1 *A -100 70 11.0|18 16 INN-1 v5 -50 100 80| 6 17 5¢ N-1 v8 -100 11.0 7.0
2 7 INS-1 v6 -100 70 110| 4 12 2¢ V= 2 -90 8.0 10.0| 4 12 2v V+1 *4 -140 7.0 11.0
14 4 INS-1 v5 -100 70 11.0| 3 10 2v O= a4 -110 50 130 7 1 3v V= +9 -140 7.0 11.0
15 17 INS-1 vQ -100 7.0 11.0|13 20 2¢ V+1 *A -110 50 13.0| 8 15 4v V= +9 -420 2.0 16.0
18 3 2v V= ¢ A -110 20 160|119 9 2NV= v7 -120 20 16.0|13 20 4v V= *A -420 2.0 16.0
9 5 24 N-2 *4 -200 0.0 18.0| 8 15 14DV= &K -140 0.0 18.0|18 16 4v V= +8 -420 2.0 16.0
13 4 D7543 Basta kontrakt 14 D7 Basta kontrakt 15 4 K8 Basta kontrakt
Nord v K63 3NT N =600 Ost v 10432 44 O =-420 Syd v KD953 3v S =140
Alla +E76 Ingen + 1074 NS +82
#53 & ¢ v & NT #8643 & ¢ v & NT #10963 & ¢ v & NT
&K « EKNn10962 N 106 9 6 9 & Kn2 » K10984 N6 3333 4643 « E1052 N86 9 88
v E87 vD109 S 106 9 6 9 vDKn975 vE6 S6 3333 v6 vKn1082 S869 88
¢+ DKn10842 +¢93 037 46 4 ¢ EKn96 ¢ KD8 O 7 109 109 ¢ KDKn73 ¢ 654 0473565
#987 #KKn V37464 +K10 #975 vV 7 109 109 D742 &E8 V47355
48 & E653 & DKn97
v Kn542 v K8 vE74
+ K5 4532 + E109
#ED10642 #EDKnN2 #KKn5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 6 240-2 8 200 160 20| 1 10 4v V-1 *4 50 150 3.0|19 5 2v S+l ¢+K 140 18.0 0.0
12 2 3¢ V-2 3 200 16.0 20|15 18 3NO-1 ] 50 150 3.0|12 8 2vyN= 8 110 150 3.0
13 11 34 O-2 v4 200 16.0 20|16 19 3NO-1 %] 50 150 3.0|17 2 2vS= ¢+K 110 15.0 3.0
5 17 264 O-1 v2 100 8.0 100|120 9 3NO-1 *A 50 150 30| 4 18 2vS-1 + K -100 6.0 12.0
14 7 24 0-1 «A 100 80 100| 4 8 2vV= ¢2 -110 100 80| 6 13 2NS-1 + K -100 6.0 12.0
15 18 34 O-1 v5 100 80 100| 3 6 3¢ O+1 *Q -130 8.0 100| 7 10 2NS-1 +Q -100 6.0 12.0
16 19 24 O-1 v4 100 8.0 10.0| 5 17 2v V+2 *T -170 6.0 12.0|11 20 4v N-1 +5 -100 6.0 12.0
20 9 3¢ V-1 5 100 80 10.0|12 2 3NV= v2 -400 40 140|14 1 3vS-1 + K -100 6.0 12.0
1 10 14 O+1 *A -110 10 17.0(13 11 3NO+1 +5 -430 20 160|155 9 3vS-1 + K -100 6.0 12.0
4 8 24 0= *6 -110 1.0 17.0|14 7 44 O+1 *A -450 00 180|16 3 3vS-1 v6 -100 6.0 12.0
16 & EKDKn32 Bésta kontrakt 17 & KKn62 Bésta kontrakt 18 «KD Bésta kontrakt
Vast vE3 44 N =420 Nord v 64 6¢ O =-920 Ost v Kn10642 54 O =-450
ov 410842 Ingen ¢+ D42 NS +9
*3 & ¢ v & NT 210753 & ¢ v & NT #D9873 & ¢ v & NT
410 » 987 N 8 4 5 105 4 E107 49 N2 1472 4 Kn953 « E862 N82824
vKnl1096 vD42 S 8 45 105 vE85 vKD10 S2147 2 v 87 vK S82824
+ ED95 ¢ KKn763 059735 ¢ E763 ¢KKn1095 O 11129 6 11 410864 ¢EKKn732 O 4 114 118
#ED85 &K4 V59725 K98 #E642 vV 11129 6 11 #EK10 %42 V 4 114 118
4654 D8543 21074
v K875 v Kn9732 v ED953
.- +8 + D5
#Kn109762 #DKn #Kn65
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
11 20 5¢DV-3 &K 800 180 00| 6 19 3NV-1 a2 50 160 20| 7 4 4¢ O= vA -130 17.0 1.0
16 3 44 N= ¢3 420 150 30| 8 1 5¢V-1 a4 50 160 20| 9 3 44 0= vA -130 17.0 1.0
19 5 44 N= v2 420 150 3.0|11 16 64 O-1 v3 50 160 20| 8 1 2¢ O+3 vA -150 13.0 5.0
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6 13 34 N+2 vQ 200 9.0 9.0|17 20 3¢ O+2 #Q -150 12.0 6.0|17 20 2¢ O+3  &T -150 13.0 5.0
7 10 4¢ V-2 aA 200 9.0 9.0[18 14 4¢ O+2 44 -170  10.0 8.0 6 19 24 V+2 +9 -170 10.0 8.0
12 8 44 O-2 44 200 90 90| 7 4 3NV= a2 -400 6.0 12.0(12 10 44 V= +9 -420 6.0 12.0
17 2 14 N+4 K 200 90 90| 9 3 5 0= 24 -400 6.0 12.0(13 15 44 V= vlJ -420 6.0 12.0
4 18 24 N+1 K 140 3.0 15.0(12 10 3NV= a2 -400 6.0 12.0(18 14 44 O= a4 -420 6.0 12.0
14 1 24 N+1 K 140 3.0 15.0|13 15 3NV +1 3 -430 20 16.0|11 16 44 V+1 vJ -450 2.0 16.0
15 9 4e V-1 A 100 0.0 180| 2 5 3NV+2 46 -460 0.0 180| 2 5 44V +2 +9 -480 0.0 18.0
19 «Kn73 Basta kontrakt 20 & DKn42 Basta kontrakt 21 473 Basta kontrakt
Syd v EKn72 3¢ S =110 Vast v EK93 2+ N =110 Nord v K85 5v O =-450
oV ¢ EK7 Alla *2 NS + E1053
*D72 & ¢ v & NT #EK63 & ¢ v & NT #DKn83 & ¢ v & NT
4EK8 #1064 N6 9576 4 K8 4 E753 N75886 410986 & EKD N48257
vD53  vK10984 S6 9576 vKn74 vD2 S75886 v 942 vEKn10763 S 4 8 2 5 7
+D84 +52 06 4857 ¢ K98653 ¢ E104 06 8456 D64 o- 08 5 118 6
#EK86 #1043 V64857 #95 #Kn1074 V68456 #K42  #E965 vV 8 5 118 6
« D952 #1096 & Kn542
v6 v 10865 vD
+ Kn10963 ¢ DKn7 + KKn9872
#Kn95 +D82 *107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 14 2¢DS+1 &A 280 180 00|11 9 2v N+2 ¢4 170 180 00|12 7 1v O+2 ] -140 18.0 0.0
11 9 3¢ S= «K 110 16.0 20|20 16 1v N+2 *J 140 160 20| 9 17 1v O+3 T -170  13.0 5.0
1 52v0-1 ¢J 100 13.0 50| 6 4 1&N+2 vQ 110 13.0 5.0|11 15 1v O+3  &T -170  13.0 5.0
18 2 2v V-1 ¢A 100 13.0 50|12 14 1v N+1 3 110 130 5.0(13 4 3v O+l T -170  13.0 5.0
6 4 INN-1 v4 -50 90 90|19 3 3¢ V-1 «K 100 100 80|14 8 1v O+3 ¢K -170  13.0 5.0
20 16 INN-1 v9 -50 90 90| 8 10 14 N+1 vQ 90 8.0 10.0| 6 16 1vy O+4 T -200 8.0 10.0
7 15 INN-2 *T -100 50 13.0| 1 5 4vsS-1 *9 -100 50 13.0| 5 20 1y O+5 42 -230 6.0 12.0
13 17 INN-2 *4 -100 50 13.0| 7 15 3v N-1 ¢ A -100 50 13.0| 2 19 4v 0= &T -420 3.0 15.0
8 10 2v O= ¢J -110 10 17.0(18 2 2¢DV=  #A -180 20 16.0|18 10 4v O= *T -420 3.0 15.0
19 3 2v V= +K -110 10 17.0(13 17 4y N-2 %] -200 00 180 1 3 4v 0O+l ¢K -450 0.0 18.0
22 4 E1087 Basta kontrakt 23 & KKn953 Basta kontrakt 24 ~ED3 Basta kontrakt
Ost v Kn32 5v V =-650 Syd v8 4v V =-620 Vast v Kn643 3v N =140
ov + E65 Alla * K2 Ingen 743
*K52 & ¢ v o NT #K9543 % ¢ v & NT *E54 & ¢ v &4 NT
» K6 « D52 N2 7272 ~E7 » 1086 N5 2362 4 KKn82 4764 N76 978
v EK74 v D106 S27 272 v K42 vED107 S5236 2 vK108 v5 S76 9738
¢+ K3 ¢ 742 O 105 105 7 ¢ EKn1073 ¢ D86 O 8 11106 8 ¢ KD10 ¢ Kn9865 06 7 46 4
#DKn874 #E1093 V 115 115 10 D72 #EKn10 V 8 11106 8 D106 #Kn973 V67454
& Kn943 & D42 #1095
v 985 v Kn9653 vED972
+ DKn1098 ¢ 954 ¢E2
*6 »86 »K82
Par  Kontr ut Res Poéng Par Kontr ut Res Poang Par Kontr ut Res Poéang
6 16 3NO-2 ¢+Q 200 180 00| 2 8 4v0O-1 «8 100 16.0 20|19 10 4vDS= ¢Q 590 18.0 0.0
2 19 3¢ S-1 vA 50 16.0 20| 7 4 4v0-1 42 100 160 20| 7 4 4¢vyN= a7 420 150 3.0
14 8 3¢ S-2 vA -100 140 4.0|11 17 3NV-1 45 100 16.0 20|11 17 4v N= 46 420 150 3.0
1 3 2#V+3 ¢A -150 90 90|14 1 2NV= 43 -120 120 6.0| 6 20 2v S+2 ¢K 170 120 6.0
12 7 44 V+1 ¢A -150 90 90| 3 15 3vO= +Q -140 100 80| 3 15 3v S= ¢K 140 7.0 11.0
13 4 34 V+2 v2 -150 90 9.0| 6 20 3NV +1 *4 -630 80 10.0| 5 18 3v S= ¢K 140 70 11.0
18 10 44V +1 aA -150 9.0 90| 5 18 3NV+2 *4 -660 4.0 14.0|12 16 3v S= ¢K 140 70 11.0
11 15 3v V+1 v3 -170 4.0 14.0|12 16 3NV +2 %3 -660 40 140|13 9 3v S= ¢K 140 70 11.0
5 20 2y V+3 ¢+5 -200 2.0 16.0|19 10 3NV +2 v8 -660 40 140| 2 8 4vS-1 48 -50 1.0 17.0
9 17 INV +4 a7 -210 0.0 18013 9 3NO+3 ¥5 -690 0.0 180|14 1 4vS-1 48 -50 1.0 17.0

Stigtomta BK, Grona hissen 2020-01-20, sida 3 av 3




